



3A

Bidders List

**CP 001-062-005, CP 001-071-001**

Grading and Aggregate Base on CR 62 and CR 71

Bid Date: February 9, 2026

Bid Time: 2:00 PM

Initial Engineer Estimate: \$2,061,111.00

<b>PLAN HOLDER</b>	<b>Bond 5%</b>	<b>Addendum</b>	<b>BID AMOUNT</b>
MJ Companies, LLC - Rice Lake, MN	✓	✓	1,640,309.75
VEIT - Duluth, MN	✓	✓	1,903,857.10
Gladden Construction - Laporte, MN	✓	✓	1,781,512.39
Ulland Brothers, Inc. - Cloquet, MN	✓	✓	2,267,753.00
Marvin Tretter Inc. - Pierz, MN	✓	✓	2,137,393.00
Casper Construction Inc. - Grand Rapids, MN	✓	✓	2,070,000.00
KGM Contractors Inc - Angora, MN	✓	✓	2,396,639.83

Aitkin County  
Schedule of Prices

Project Number: CP 001-062-005, CP 001-071-001

Project Title: CR 62 Grading , CR 71 Grading

Work Type: Grading and Aggregate Base

<b>BIDDER MUST FILL IN UNIT PRICES IN NUMERALS; MAKE EXTENSION FOR EACH ITEM AND TOTAL. FOR COMPLETE INFORMATION CONCERNING THESE ITEMS, SEE PLANS AND SPECIFICATIONS, INCLUDING SPECIAL PROVISIONS.</b>					
<b>Item No.</b>	<b>Description</b>	<b>Units</b>	<b>Quantity</b>	<b>Unit Price</b>	<b>Total Price</b>
2021.501	MOBILIZATION	LS	1	\$ \$15,000.00	\$ \$15,000.00
2051.501	MAINT AND RESTORATION OF HAUL ROADS	LS	1	\$5000.00	\$5000.00
2101.501	CLEARING AND GRUBBING	LS	1	\$12,500.00	\$12,500.00
2104.502	SALVAGE SIGN	EACH	26	\$100.00	\$2600.00
2104.503	SAWING CONCRETE PAVEMENT (FULL DEPTH)	LF	37	\$1000.00	\$1000.00
2104.503	SAWING BITUMINOUS PAVEMENT (FULL DEPTH)	L F	71	\$2000.00	\$2000.00
2104.503	REMOVE PIPE CULVERTS	L F	1089	\$7.50	\$8167.50
2104.504	REMOVE CONCRETE DRIVEWAY PAVEMENT	SY	107	\$12.50	\$1337.50
2104.504	REMOVE BITUMINOUS PAVEMENT	S Y	101	\$12.50	\$1262.50
2106.507	EXCAVATION - COMMON (P)	C Y	51751	\$7.00	\$362,257.00
2106.507	GRANULAR EMBANKMENT (CV)	C Y	22031	\$9.50	\$209,294.50
2106.507	COMMON EMBANKMENT (CV) (P)	C Y	36394	\$5.00	\$ 181,970.00
2108.504	GEOTEXTILE FABRIC TYPE 5	S Y	1200	\$6.00	\$7200.00
2118.509	AGGREGATE SURFACING CLASS 5	TON	578	\$25.00	\$14,450.00
2123.510	DOZER	HOOR	20	\$175.00	\$3500.00

## Bidding Requirements and Covenants

1301

### CONSIDERATION OF PROPOSALS

After opening Proposals, the Department will compare the Proposals based on the correct summation of the products of the scheduled quantities and unit bid prices. If the lowest responsible Bidder has submitted prices on more than one alternate item, the Department reserves the right to determine which alternate to accept. If the extended bid item price, obtained by multiplying the unit bid price by the bid item quantity, is incorrectly calculated, the Department will use the unit bid price to recalculate the extended bid item price.

The Department will not consider Proposals that do not include a Proposal Guaranty in accordance with 1208, "Proposal Guaranty."

The Department reserves the right to take the following actions:

- (1) Reject any or all Proposals
- (2) Waive defects and technicalities in a Proposal
- (3) Advertise for new Proposals

**Resolution #20260210-xxx Award Contract 20264**

**WHEREAS**, Contract No. 20264 is for construction of CP 001-062-005 and CP 001-071-001.

**WHEREAS**, sealed bids were opened for this contract at 2:00 p.m. on Monday, February 9, 2026 with a total of seven bids received.

**WHEREAS**, Gladen Construction Inc., Laporte, MN - was the lowest responsible bidder with a bid amount of \$1,781,512.39.

**NOW THEREFORE, BE IT RESOLVED**, that Gladen Construction Inc. be awarded Contract 20264 in the amount of \$1,781,512.39.

**BE IT FURTHER RESOLVED**, that the chairperson of the Aitkin County Board and the Aitkin County Administrator are hereby authorized and directed to enter into a contract on behalf of Aitkin County with said low bidder upon presentation of proper contract documents

Adopted this 10th Day of February, 2026 By The Aitkin County Board of Commissioners.

Attest:

\_\_\_\_\_  
J. Mark Wedel  
County Board Chair

\_\_\_\_\_  
David J. Minke, County Administrator  
Clerk to the County Board

**STATE OF MINNESOTA}  
COUNTY OF AITKIN}**

**Aitkin County  
Contract Bid Abstract**

Project Name: Grading and Aggregate Base on CR 62 and CR 71  
 Bid Opening: February 9, 2026, at 2:00 PM

Contract No.: 20264  
 Project No.: CP 001-062-005, CP 001-071-001

		Project: CP 001-062-005 & CP 001-071-001 Grading and Aggregate Base on CR 62 and CR 71			Engineer's Estimate		Gladen Construction Inc - Laporte, MN		MJ Companies LLC - Rice Lake, MN		Veit & Company, Inc. - Duluth, MN	
Line	Number	Description	Unit	Quantity	Estimated Price	Estimated Total	Price	Total	Price	Total	Price	Total
1	2021.501	MOBILIZATION	LS	1	\$70,000.00	\$70,000.00	\$83,500.00	\$83,500.00	\$15,000.00	\$15,000.00	\$110,000.00	\$110,000.00
2	2051.501	MAINT AND RESTORATION OF HAUL ROADS	LS	1	\$1,000.00	\$1,000.00	\$100.00	\$100.00	\$5,000.00	\$5,000.00	\$1.00	\$1.00
3	2101.501	CLEARING AND GRUBBING	LS	1	\$50,000.00	\$50,000.00	\$25,200.00	\$25,200.00	\$12,500.00	\$12,500.00	\$27,000.00	\$27,000.00
4	2104.502	SALVAGE SIGN	EACH	26	\$50.00	\$1,300.00	\$40.00	\$1,040.00	\$100.00	\$2,600.00	\$45.00	\$1,170.00
5	2104.503	SAWING CONCRETE PAVEMENT (FULL DEPTH)	LF	37	\$10.00	\$370.00	\$3.00	\$111.00	\$1,000.00	\$37,000.00	\$3.60	\$133.20
6	2104.503	SAWING BITUMINOUS PAVEMENT (FULL DEPTH)	LF	71	\$5.00	\$355.00	\$4.00	\$284.00	\$2,000.00	\$142,000.00	\$2.50	\$177.50
7	2104.503	REMOVE PIPE CULVERTS	LF	1,089	\$18.00	\$19,602.00	\$19.72	\$21,475.08	\$7.50	\$8,167.50	\$14.00	\$15,246.00
8	2104.504	REMOVE CONCRETE DRIVEWAY PAVEMENT	SY	107	\$15.00	\$1,605.00	\$12.00	\$1,284.00	\$12.50	\$1,337.50	\$3.00	\$321.00
9	2104.504	REMOVE BITUMINOUS PAVEMENT	SY	101	\$8.00	\$808.00	\$8.25	\$833.25	\$12.50	\$1,262.50	\$2.00	\$202.00
10	2106.507	EXCAVATION - COMMON (P)	CY	51,751	\$8.00	\$414,008.00	\$4.95	\$256,167.45	\$7.00	\$362,257.00	\$3.00	\$155,253.00
11	2106.507	GRANULAR EMBANKMENT (CV)	CY	22,031	\$16.00	\$352,496.00	\$14.66	\$322,974.46	\$9.50	\$209,294.50	\$14.00	\$308,434.00
12	2106.507	COMMON EMBANKMENT (CV) (P)	CY	36,394	\$8.00	\$291,152.00	\$3.05	\$111,001.70	\$5.00	\$181,970.00	\$1.40	\$50,951.60
13	2108.504	GEOTEXTILE FABRIC TYPE 5	SY	1,200	\$2.50	\$3,000.00	\$5.05	\$6,060.00	\$6.00	\$7,200.00	\$2.80	\$3,360.00
14	2118.509	AGGREGATE SURFACING CLASS 5	TON	578	\$32.00	\$18,496.00	\$28.50	\$16,473.00	\$25.00	\$14,450.00	\$48.00	\$27,744.00
15	2123.51	DOZER	HOURL	20	\$200.00	\$4,000.00	\$175.00	\$3,500.00	\$175.00	\$3,500.00	\$280.00	\$5,600.00
16	2211.507	AGGREGATE BASE (CV) CLASS 5	CY	20,443	\$24.00	\$490,632.00	\$30.00	\$613,290.00	\$25.00	\$511,075.00	\$43.00	\$879,049.00
17	2411.507	STRUCTURE EXCAVATION CLASS U (P)	CY	838	\$12.00	\$10,056.00	\$16.25	\$13,617.50	\$7.50	\$6,285.00	\$9.30	\$7,793.40
18	2451.507	GRANULAR BACKFILL (CV) (P)	CY	719	\$22.00	\$15,818.00	\$38.00	\$27,322.00	\$9.50	\$6,830.50	\$11.40	\$8,196.60
19	2451.507	COARSE AGGREGATE BEDDING (CV)	CY	66	\$50.00	\$3,300.00	\$90.00	\$5,940.00	\$25.00	\$1,650.00	\$188.00	\$12,408.00
20	2501.502	15" PC-CS PIPE APRON	EACH	34	\$275.00	\$9,350.00	\$337.00	\$11,458.00	\$265.00	\$9,010.00	\$667.00	\$22,678.00
21	2501.502	18" PC-CS PIPE APRON	EACH	18	\$400.00	\$7,200.00	\$447.00	\$8,046.00	\$325.00	\$5,850.00	\$708.00	\$12,744.00
22	2501.502	24" PC-CS PIPE APRON	EACH	4	\$500.00	\$2,000.00	\$640.00	\$2,560.00	\$450.00	\$1,800.00	\$987.00	\$3,948.00
23	2501.502	18" RC PIPE APRON	EACH	2	\$1,400.00	\$2,800.00	\$933.00	\$1,866.00	\$900.00	\$1,800.00	\$1,500.00	\$3,000.00
24	2501.502	24" RC PIPE APRON	EACH	8	\$1,800.00	\$14,400.00	\$1,070.00	\$8,560.00	\$1,100.00	\$8,800.00	\$1,500.00	\$12,000.00
25	2501.502	28" SPAN RC PIPE-ARCH APRON	EACH	2	\$2,000.00	\$4,000.00	\$1,152.00	\$2,304.00	\$1,200.00	\$2,400.00	\$1,600.00	\$3,200.00
26	2501.502	51" SPAN RC PIPE-ARCH APRON	EACH	2	\$4,000.00	\$8,000.00	\$2,525.00	\$5,050.00	\$2,500.00	\$5,000.00	\$2,600.00	\$5,200.00
27	2501.503	15" PC-CS PIPE CULVERT	LF	762	\$75.00	\$57,150.00	\$61.00	\$46,482.00	\$45.00	\$34,290.00	\$54.00	\$41,148.00
28	2501.503	18" PC-CS PIPE CULVERT	LF	430	\$95.00	\$40,850.00	\$70.00	\$30,100.00	\$55.00	\$23,650.00	\$61.00	\$26,230.00

		Project: CP 001-062-005 & CP 001-071-001 Grading and Aggregate Base on CR 62 and CR 71			Engineer's Estimate		Gladen Construction Inc - Laporte, MN		MJ Companies LLC - Rice Lake, MN		Veit & Company, Inc. - Duluth, MN	
Line	Number	Description	Unit	Quantity	Estimated Price	Estimated Total	Price	Total	Price	Total	Price	Total
29	2501.503	24" PC-CS PIPE CULVERT	LF	92	\$120.00	\$11,040.00	\$86.00	\$7,912.00	\$65.00	\$5,980.00	\$75.00	\$6,900.00
30	2501.503	51" SPAN RC PIPE-ARCH CULVERT CLASS IIA	LF	50	\$300.00	\$15,000.00	\$280.00	\$14,000.00	\$250.00	\$12,500.00	\$250.00	\$12,500.00
31	2501.503	28" SPAN RC PIPE-ARCH CULVERT CLASS IIIA	LF	52	\$200.00	\$10,400.00	\$160.00	\$8,320.00	\$130.00	\$6,760.00	\$155.00	\$8,060.00
32	2501.503	24" RC PIPE CULVERT DESIGN 3006	LF	68	\$170.00	\$11,560.00	\$103.00	\$7,004.00	\$75.00	\$5,100.00	\$100.00	\$6,800.00
33	2501.503	18" RC PIPE CULVERT DESIGN 3006 CLASS III	LF	50	\$160.00	\$8,000.00	\$88.00	\$4,400.00	\$60.00	\$3,000.00	\$80.00	\$4,000.00
34	2501.503	24" RC PIPE CULVERT DESIGN 3006 CLASS III	LF	172	\$170.00	\$29,240.00	\$103.00	\$17,716.00	\$75.00	\$12,900.00	\$100.00	\$17,200.00
35	2511.507	RANDOM RIPRAP CLASS III	CY	68	\$100.00	\$6,800.00	\$110.00	\$7,480.00	\$100.00	\$6,800.00	\$130.00	\$8,840.00
36	2540.602	MAIL BOX SUPPORT	EACH	13	\$150.00	\$1,950.00	\$100.00	\$1,300.00	\$900.00	\$11,700.00	\$110.00	\$1,430.00
37	2563.601	TRAFFIC CONTROL	LS	1	\$10,000.00	\$10,000.00	\$3,950.00	\$3,950.00	\$5,500.00	\$5,500.00	\$3,100.00	\$3,100.00
38	2564.502	INSTALL SIGN	EACH	16	\$100.00	\$1,600.00	\$125.00	\$2,000.00	\$295.00	\$4,720.00	\$140.00	\$2,240.00
39	2564.518	SIGN	SF	93.65	\$100.00	\$9,365.00	\$70.00	\$6,555.50	\$95.00	\$8,896.75	\$78.00	\$7,304.70
40	2573.503	SILT FENCE, TYPE HI	LF	5,903	\$3.50	\$20,660.50	\$3.00	\$17,709.00	\$4.00	\$23,612.00	\$3.40	\$20,070.20
41	2573.503	SEDIMENT CONTROL LOG TYPE STRAW	LF	420	\$5.00	\$2,100.00	\$3.00	\$1,260.00	\$4.25	\$1,785.00	\$3.40	\$1,428.00
42	2574.508	FERTILIZER TYPE 3	LB	7,525	\$1.10	\$8,277.50	\$0.95	\$7,148.75	\$1.10	\$8,277.50	\$1.10	\$8,277.50
43	2575.505	SEEDING (P)	ACRE	21.5	\$150.00	\$3,225.00	\$950.00	\$20,425.00	\$80.00	\$1,720.00	\$1,000.00	\$21,500.00
44	2575.509	MULCH MATERIAL TYPE 3	TON	43	\$160.00	\$6,880.00	\$295.00	\$12,685.00	\$1,250.00	\$53,750.00	\$330.00	\$14,190.00
45	2575.523	RAPID STABILIZATION METHOD 3	MGAL	9.5	\$450.00	\$4,275.00	\$495.00	\$4,702.50	\$700.00	\$6,650.00	\$550.00	\$5,225.00
46	2575.608	SEED MESIC INSLOPE	LB	1,398	\$5.00	\$6,990.00	\$7.40	\$10,345.20	\$10.50	\$14,679.00	\$8.30	\$11,603.40
Totals for Project CP 001-062-005 & CP 001-071-001 (Contract 20264)						\$2,061,111.00		\$1,781,512.39		\$1,816,309.75		\$1,903,857.10
% of Estimate for Project CP 001-062-005 & CP 001-071-001 (Contract 20264)								-13.57%		-11.88%		-7.63%

		Project: CP 001-062-005 & CP 001-071-001 Grading and Aggregate Base on CR 62 and CR 71			Casper Construction, Inc. - Grand Rapids, MN		Marvin Tretter INC. - Pierz, MN		Ulland Brothers, Inc. - Cloquet, MN		KGM Contractors, Inc. - Angora, MN	
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	Price	Total
1	2021.501	MOBILIZATION	LS	1	\$34,496.80	\$34,496.80	\$30,000.00	\$30,000.00	\$59,115.94	\$59,115.94	\$184,000.00	\$184,000.00
2	2051.501	MAINT AND RESTORATION OF HAUL ROADS	LS	1	\$12,000.00	\$12,000.00	\$1,000.00	\$1,000.00	\$2,750.00	\$2,750.00	\$1,250.00	\$1,250.00
3	2101.501	CLEARING AND GRUBBING	LS	1	\$35,000.00	\$35,000.00	\$30,000.00	\$30,000.00	\$51,850.00	\$51,850.00	\$50,000.00	\$50,000.00
4	2104.502	SALVAGE SIGN	EACH	26	\$75.00	\$1,950.00	\$50.00	\$1,300.00	\$40.00	\$1,040.00	\$42.00	\$1,092.00
5	2104.503	SAWING CONCRETE PAVEMENT (FULL DEPTH)	LF	37	\$5.00	\$185.00	\$6.00	\$222.00	\$3.17	\$117.29	\$9.00	\$333.00
6	2104.503	SAWING BITUMINOUS PAVEMENT (FULL DEPTH)	LF	71	\$5.00	\$355.00	\$4.00	\$284.00	\$2.17	\$154.07	\$6.00	\$426.00
7	2104.503	REMOVE PIPE CULVERTS	LF	1,089	\$7.00	\$7,623.00	\$12.00	\$13,068.00	\$18.00	\$19,602.00	\$13.00	\$14,157.00
8	2104.504	REMOVE CONCRETE DRIVEWAY PAVEMENT	SY	107	\$4.00	\$428.00	\$12.00	\$1,284.00	\$8.50	\$909.50	\$23.00	\$2,461.00
9	2104.504	REMOVE BITUMINOUS PAVEMENT	SY	101	\$4.00	\$404.00	\$5.00	\$505.00	\$6.50	\$656.50	\$23.00	\$2,323.00
10	2106.507	EXCAVATION - COMMON (P)	CY	51,751	\$4.05	\$209,591.55	\$8.00	\$414,008.00	\$5.50	\$284,630.50	\$7.30	\$377,782.30
11	2106.507	GRANULAR EMBANKMENT (CV)	CY	22,031	\$15.75	\$346,988.25	\$20.00	\$440,620.00	\$17.75	\$391,050.25	\$19.15	\$421,893.65
12	2106.507	COMMON EMBANKMENT (CV) (P)	CY	36,394	\$1.75	\$63,689.50	\$6.00	\$218,364.00	\$4.00	\$145,576.00	\$5.75	\$209,265.50
13	2108.504	GEOTEXTILE FABRIC TYPE 5	SY	1,200	\$3.15	\$3,780.00	\$5.00	\$6,000.00	\$2.50	\$3,000.00	\$3.80	\$4,560.00
14	2118.509	AGGREGATE SURFACING CLASS 5	TON	578	\$30.00	\$17,340.00	\$31.00	\$17,918.00	\$46.00	\$26,588.00	\$24.00	\$13,872.00
15	2123.51	DOZER	HOUR	20	\$240.00	\$4,800.00	\$200.00	\$4,000.00	\$200.00	\$4,000.00	\$185.00	\$3,700.00
16	2211.507	AGGREGATE BASE (CV) CLASS 5	CY	20,443	\$50.95	\$1,041,570.85	\$32.00	\$654,176.00	\$46.75	\$955,710.25	\$37.10	\$758,435.30
17	2411.507	STRUCTURE EXCAVATION CLASS U (P)	CY	838	\$10.50	\$8,799.00	\$8.00	\$6,704.00	\$18.00	\$15,084.00	\$20.75	\$17,388.50
18	2451.507	GRANULAR BACKFILL (CV) (P)	CY	719	\$17.50	\$12,582.50	\$20.00	\$14,380.00	\$22.00	\$15,818.00	\$24.00	\$17,256.00
19	2451.507	COARSE AGGREGATE BEDDING (CV)	CY	66	\$170.00	\$11,220.00	\$55.00	\$3,630.00	\$84.00	\$5,544.00	\$76.00	\$5,016.00
20	2501.502	15" PC-CS PIPE APRON	EACH	34	\$335.00	\$11,390.00	\$250.00	\$8,500.00	\$450.00	\$15,300.00	\$470.00	\$15,980.00
21	2501.502	18" PC-CS PIPE APRON	EACH	18	\$405.00	\$7,290.00	\$300.00	\$5,400.00	\$490.00	\$8,820.00	\$655.00	\$11,790.00
22	2501.502	24" PC-CS PIPE APRON	EACH	4	\$580.00	\$2,320.00	\$550.00	\$2,200.00	\$740.00	\$2,960.00	\$745.00	\$2,980.00
23	2501.502	18" RC PIPE APRON	EACH	2	\$1,350.00	\$2,700.00	\$900.00	\$1,800.00	\$1,150.00	\$2,300.00	\$1,120.00	\$2,240.00
24	2501.502	24" RC PIPE APRON	EACH	8	\$1,450.00	\$11,600.00	\$1,000.00	\$8,000.00	\$1,220.00	\$9,760.00	\$1,200.00	\$9,600.00
25	2501.502	28" SPAN RC PIPE-ARCH APRON	EACH	2	\$1,500.00	\$3,000.00	\$1,200.00	\$2,400.00	\$1,280.00	\$2,560.00	\$1,400.00	\$2,800.00
26	2501.502	51" SPAN RC PIPE-ARCH APRON	EACH	2	\$2,900.00	\$5,800.00	\$2,500.00	\$5,000.00	\$2,300.00	\$4,600.00	\$3,660.00	\$7,320.00
27	2501.503	15" PC-CS PIPE CULVERT	LF	762	\$53.00	\$40,386.00	\$55.00	\$41,910.00	\$55.50	\$42,291.00	\$80.00	\$60,960.00
28	2501.503	18" PC-CS PIPE CULVERT	LF	430	\$64.00	\$27,520.00	\$70.00	\$30,100.00	\$63.00	\$27,090.00	\$94.00	\$40,420.00
29	2501.503	24" PC-CS PIPE CULVERT	LF	92	\$75.00	\$6,900.00	\$85.00	\$7,820.00	\$75.00	\$6,900.00	\$107.00	\$9,844.00
30	2501.503	51" SPAN RC PIPE-ARCH CULVERT CLASS IIA	LF	50	\$260.00	\$13,000.00	\$325.00	\$16,250.00	\$315.00	\$15,750.00	\$310.00	\$15,500.00
31	2501.503	28" SPAN RC PIPE-ARCH CULVERT CLASS IIIA	LF	52	\$134.00	\$6,968.00	\$175.00	\$9,100.00	\$205.00	\$10,660.00	\$167.00	\$8,684.00
32	2501.503	24" RC PIPE CULVERT DESIGN 3006	LF	68	\$71.00	\$4,828.00	\$115.00	\$7,820.00	\$128.00	\$8,704.00	\$115.00	\$7,820.00
33	2501.503	18" RC PIPE CULVERT DESIGN 3006 CLASS III	LF	50	\$56.00	\$2,800.00	\$100.00	\$5,000.00	\$138.00	\$6,900.00	\$102.00	\$5,100.00
34	2501.503	24" RC PIPE CULVERT DESIGN 3006 CLASS III	LF	172	\$73.00	\$12,556.00	\$125.00	\$21,500.00	\$130.00	\$22,360.00	\$115.00	\$19,780.00

		Project: CP 001-062-005 & CP 001-071-001 Grading and Aggregate Base on CR 62 and CR 71			Casper Construction, Inc. - Grand Rapids, MN		Marvin Tretter INC. - Pierz, MN		Ulland Brothers, Inc. - Cloquet, MN		KGM Contractors, Inc. - Angora, MN		
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	Price	Total	
35	2511.507	RANDOM RIPRAP CLASS III	C Y	68	\$100.00	\$6,800.00	\$95.00	\$6,460.00	\$110.00	\$7,480.00	\$99.00	\$6,732.00	
36	2540.602	MAIL BOX SUPPORT	EACH	13	\$62.50	\$812.50	\$200.00	\$2,600.00	\$100.00	\$1,300.00	\$105.00	\$1,365.00	
37	2563.601	TRAFFIC CONTROL	LS	1	\$3,500.00	\$3,500.00	\$10,000.00	\$10,000.00	\$2,800.00	\$2,800.00	\$5,600.00	\$5,600.00	
38	2564.502	INSTALL SIGN	EACH	16	\$125.00	\$2,000.00	\$150.00	\$2,400.00	\$125.00	\$2,000.00	\$131.00	\$2,096.00	
39	2564.518	SIGN	SF	93.65	\$75.00	\$7,023.75	\$75.00	\$7,023.75	\$70.00	\$6,555.50	\$73.50	\$6,883.28	
40	2573.503	SILT FENCE, TYPE HI	LF	5,903	\$4.10	\$24,202.30	\$3.25	\$19,184.75	\$4.15	\$24,497.45	\$3.55	\$20,955.65	
41	2573.503	SEDIMENT CONTROL LOG TYPE STRAW	LF	420	\$5.35	\$2,247.00	\$3.25	\$1,365.00	\$4.50	\$1,890.00	\$4.60	\$1,932.00	
42	2574.508	FERTILIZER TYPE 3	LB	7,525	\$1.30	\$9,782.50	\$1.00	\$7,525.00	\$0.95	\$7,148.75	\$1.15	\$8,653.75	
43	2575.505	SEEDING (P)	ACRE	21.5	\$375.00	\$8,062.50	\$1,000.00	\$21,500.00	\$250.00	\$5,375.00	\$325.00	\$6,987.50	
44	2575.509	MULCH MATERIAL TYPE 3	TON	43	\$375.00	\$16,125.00	\$300.00	\$12,900.00	\$450.00	\$19,350.00	\$325.00	\$13,975.00	
45	2575.523	RAPID STABILIZATION METHOD 3	MGAL	9.5	\$600.00	\$5,700.00	\$525.00	\$4,987.50	\$550.00	\$5,225.00	\$550.00	\$5,225.00	
46	2575.608	SEED MESIC INSLOPE	LB	1,398	\$8.50	\$11,883.00	\$8.00	\$11,184.00	\$10.00	\$13,980.00	\$7.30	\$10,205.40	
Totals for Project CP 001-062-005 & CP 001-071-001 (Contract 20264)						\$2,070,000.00		\$2,137,393.00		\$2,267,753.00		\$2,396,639.83	
% of Estimate for Project CP 001-062-005 & CP 001-071-001 (Contract 20264)							0.43%		3.70%		10.03%		16.28%

I hereby certify that this is an exact reproduction of bids received.

Certified By: John Welle Digitally signed by John Welle  
Date: 2026.02.10 07:56:32 -08:00 License No. 24340

Date: 2-10-26